
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

:مثال 

7+9  

7+10 

17-1=16 

:مثال 

8×9  

8×10 

80-9=71 
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:مثال 

8×99  

8×100 

800-9=791 

 القاعدة الرياضية:

  س ½× = س  0.5× س =÷ 

:مثال 

420×0.5  =420  ×½ 

420  ÷2 

210 
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 اضية:القاعدة الري

  س/ ¼× = س  0.25× س = 

:مثال 

136×0.25 =136  ×¼ 

4:136 

34 

 القاعدة الرياضية:

  ( 2:س )=  0.05× س÷ 

:مثال 

9×0.05 =(9 ÷ )÷ 

4.5÷10 

0.45 
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 القاعدة الرياضية:

  ( ×س )=  2.5× س÷ 

:مثال 

4×2.5 =(4 ×  ): 

40  ÷ 4 

10 

 القاعدة الرياضية:

  ( ×س )=  5× س÷ 

:مثال 

78×5 =(78  × )÷ 

780÷2 

390 
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 القاعدة الرياضية:

  ( ×س )=  50× س: 

:مثال 

62×50 =(62  × ): 

2:6200 

3100 

 القاعدة الرياضية:

  س –= س  0.75× س(:) 

:مثال 

8×0.75 =8 –  ( :) 

8 - 2 

6 
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 القاعدة الرياضية:

  ((:)س –س  ×) 10= 7.5× س 

:مثال 

20×7.5 =10 (×20 –  ( :)) 

10 (×20 – 5 ) 

150 

 القاعدة الرياضية:

  س +س=  ( +  ×)= س  11× س 

:مثال 

93×11 (=93  × )+ 

930  +93 

1023 



  

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 القاعدة الرياضية:

  س(2:(س  × 10))= 6× س + 

:مثال 

21×6 ((=10 ×21  :)2 + )21 

105 +21  

126 

 القاعدة الرياضية:

  س ×10(+2(:س  × 100))= 60× س 

:مثال 

18×60 ((=100 ×18  :)2 + )10×18 

900 +180  

1080 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 القاعدة الرياضية:

  س  + (100×)س = 101× س 

:مثال 

7   ×101 =(7 ×100) + 7  

707  

 القاعدة الرياضية:

1 + (10- س)= 9 -  س  

:مثال 

57  - 9 =(57 -10) + 1  

47+1=48  
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 القاعدة الرياضية:

  1 + (100-س )= 99 -س  

:مثال 

461  - 99 =(461 -100) + 1  

361+1=362  

 القاعدة الرياضية:

  س= ×= س ½:س=  0.5 :س 

:مثال 

164  : 0.5  =164:½ 

164  ×2 

328 
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 القاعدة الرياضية:

  س= ×= س ¼÷س=  0.25 ÷س 

:مثال 

12  ÷ 0.25  =12÷ ¼ 

12  ×4 

48 

 القاعدة الرياضية:

  (س × 4)= 2.5 ÷س  :) 

:مثال 

5÷2.5 =(4 ×5 )÷ 

20 ÷10 

2 



 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 القاعدة الرياضية:

  (÷ ×س)= (÷÷) س = 5 ÷س 

:مثال 

7÷5  =(7×2÷)10 

14 ÷10 

1.4 


